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Please check whether you have got the right question papEr ]

N.B: 1. Figures to the right indicate full marks.
2. Attempt All question.

Answer the following (any two) S, 7
a) Enumerate on the need and relevance of corporate Cummunicﬁttah in I'i‘ld
b) Explain in detail the various factors affecting corpdrate image G Y S
c) Write note on RTI. A : : ;

' Answer the following (any two) SN 0T
a) What are the objectives of public relatlens SRR VR S ey
b) How do social and cultural trends influence’ busmess qf a em‘np r
c) Explain Systems theory used in publf\c\rblﬁtlen. ¥

A

Answer the following (any two) G
a) What are the principles of gﬁod rﬁed“a relatlon? Lt e G P Vi
b) Explain the steps in implementlng an~efféctive emplbyée cor‘nmUnrcatuon program
¢) What is financial advertis g? ;tate 'Its adwhtages o

Marks:78]

Answer the following (any two] P B gl

a) Explain web cortférencmg and Reailv sjmﬂle syndmatmn Ry £

b) What are the nd\mn’tages of umng webstte for brand ldentutv'r"
roces: of making a buslness blos e o &

c) Explain the _;5 Gﬁe$§

15

" Isolve the fullowin‘ Ve Eﬁ, ;

el F’ens‘l I:orporaﬂoﬁ facet:l a major srlsls in 1993 WIth ‘¢laims of syringes being found in cans of Diet
Pepsi. Thé con‘Ypany h&a the sltuatlon mvastlgatéd which Ied to arrest of a woman who was caught on video
whlle ir_}sérﬁhg afsyﬂnge iﬁm thé Qan The Udmpany also ma&e public commumcatlon effective throughout the

Yol 687035EEB3FBY41 1FOE116152928E73A
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Q1

Q.2

Q.3

Q4

Q.5

& . s Ve RN
| 5= & ol ont DN

_—
Q.P. Code .01997 :
[Time: 2% Hours] x “ ‘_
Please check whether you have got the right questron papgr WA e
N.B: 1. All the questions are compulsory. e o ? D o
2. All the questions carry equal marks. Al \ R
Answer any two of the following. ‘ NP YT

What do you understand by the term media planning? Exnlam lts sr:ope
Explain the role of media planner. 3
Explain in brief the different sources of media Research T

""-\.& 4
Answer any two of the following. :*' ok s :
Explain how do you decide on ideal Media Mix?". R oS A 6 VAT AN
-Explain the factors affecting selection of Radu:fMéd&a demsion PE LSS SS
Explain in brief the different steps in formulitmg fnedga stfat‘egy ' RO i
RN < > & ¥ 3
Answer any two of the following. by f PP P VLT S (U B0 VT O
Explain the Methods of setting medla budgét *',.;.: o FELSFS @
Explain the process of media buying: 5+ S NI e, ¥

What is Media Scheduling? Explain the ﬂifferent sched(ﬂing strategies for creatmg |mpact

Answer any two of the foilowmg ALY, £ S AL
Explain the Basic matrics refated. to%nedfa rﬁeat‘.uremeﬁt BN N
Explain PLAN metrics in media‘ml!ajurément PSEIGIAS AN

Explain the dlfferent méthods to evatua’te Prmt media huymg
CASESTUDY ot ir S O anSir S S0 s

The fast moving cahsumer goeds (EMCG) segment is the f0urth Iarge'st Sector in the Indian Economy. The
Market size of FMEG [n !txdla s eswnated to-.grow fromMS$ 30 brl{lon in 2011 to USS 74 billion in 2018.
Food products;is the Igadmg Segh‘t&nf accountmg for 43 percent of the overall market. Personal care (22
percent) & Fahncthre (12 perqent) come next in terms of Market share. Growing awareness, easier
access, & thang’hg ﬂtestyle:. have been the key growth dnvers for the sector.

FMCG goods. Brg pdpulaﬂ\[ khown as consumer Patkaged goods. Items in this category include are
consumable“s {other fhan g;;occrles [ pulsgs} Peopte buy-at regular intervals. The most common in the list
are. tonlet SO;?QS détbfgéﬂts sh lampqos, toothpaste, 5havmg products, shoe polish, packaged food stuff, &
h0useh01d“acéessones & extehds to certam electromc goods. These items are meant for daily and

: ‘ freduent consumption &‘have a high returm i
: Rural areas*éxpected to be thq n'{ajor dnvers far FMCG, as growth continues to be high in these regions.

._'.Rural areas saw’ a 1&perce‘nt as agafnst 12 percent rise in urban areas. Most companies rushed to
> caputah:e on’ thls as they\quu:kly WEnt about increasing direct distribution & providing better

K infrastructure cambantes ar‘e also warkmg towards creating specific products specially targeted for the

2.
2

rural. markets Renaty

s

ngstlgn b

~As‘amedia plaﬁner ef *the company
HQw«wou[d you go about’ media planning decision for FMCG company?
What wouIcF be the !deaH'nedla Mix available for FMCG products?

-y
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Q.P. Code : 04287

[Time: 2% Hours] X v j [ Marks:75]

Please check whether you haveget the right question paper.
N.B: 1. All questions are compulsory and carry 15 marks each.
2. Solve any 2 out of (A), (B) and (C) in Questions 1 to.4,

Q1 (15)
a) Discuss the factors responsible for the growth of Grganized retail i India
b) Explain the following with relevant examples: '
i. FDI ii. Bar Coding iii. Off price Retailers
c) Explain the non-store based retail formats.

a) Explain the steps in developing retail strategy
b) Explain the objectives of CRM in retail
¢) Discuss in detail the factors influencing retail shoppers

a) What do you mean by merchandising? Explain the principles of merchandising
b) Discuss the need and importance of private label brands .
c) Explain any Five pricing strategies that can be adopted by the retailer.

Q.4 . (15)
a) Discuss the 5 S's of Retall Operations
b) What do you mean by signage? Explain its significance
c) Explain the tools used for visual merchandising

5L 5 Case Study .

Subhiksha, Indian fledging retail chain having been started by the alumnus of the prestigious B-school, IIM-
A, the long-term success, survival and profitability of Subhiksha was expected. In the light of India's
promising retail potential, huge investments were made by several big corporate houses of India, jacking
up the prices of all the related parts of the industry. Being a pioneer in the organised retailing in India,
Subhiksha became India's largest retail chain with 1,665 stores across the country. In the process it
succeeded in building a sound brand name over years with its no-frill, discount format. With Indian
organised retail industry blooming under the economic liberalisations and attention from the global
players, Subhiksha was expected to grow bigger, but as global recession set in, credit markets froze and
Subhiksha stumbled as its capital strueture could not support the requirement. Lack of liquidity and
overexpansion troubled Subhiksha as it failed to pay rent to the landlords and salary to its employees,
Operations came to a standstill, :

a) Analyse the factors responsible for the rise of Subhiksha (05)

b) Briefly discuss the reasons for the fall of Subhiksha (05)
¢) Discuss some strategies for Subhiksha to come out of the crisis (05)

0E39219B6EDSFTFFBDSACA0828A FOEOO



s e

) Mok} 19 —— W) fin \ »
| m QPp. Coda*(’!BDDO.. SIS

[Time: 2'/2 Hours]

Please check whether you have got the right qu&sﬁéﬁ»papef

N.B: 1. All questions are compulsory subject to mternat ehQiéa e
2. Figures to the right indicate full marks. W,

3. Working notes are a part of your solution.—~

Q.1 Answer any two of the following.

a) Explain the problems in financial services sector. .’ & ,y ' “ SR AT o

b) Ambitious Co. Ltd. has account receivables wor‘i”h hizg.lakhi ﬁpﬁmum Fagtor Ltd bffers nQn-
recourse factoring services to Ambitious Ltd T&e factér would' pgy~8026 Qf the varuenf“the factored
receivables @ 14% interest compounded qua@:re.ﬂyfrhe rern'hming an@qi:\t is re'taiﬂed as factnr
reserve. It also guarantees payment after-three mqﬂths‘ffom the, date of pu;{hgsgbtthe mcewables.
The factoring commission is 3% of the value of factored racewgbles Lt is dgu:ided tbat 1nterESt and
commission will be collected in advahtglw-t:' <6 .
1) Find out the advance payablei:o ﬁlfn;b us\t.‘.b B>
2) ‘

Co. \
3) Estimate the effective Qakt:nﬁﬁmds%based on. tf\e a}s&urﬁptmn that cammlsslaﬁ is collected in
advance and the mte(ait\‘f@edglbctgd lﬂ‘a,{rears. SR IAT e -

c) Distinguish between Facfprfnj a’hcmsll discnunhng T % :
‘:\7'" “SVF & @ » )
Q.2 Answer any two of the follawingfﬁ 1
b) Explain any th[&&}vpes\«ﬁffeﬂvgt@;mﬁtrads £S)
c) Whatis secugmatibmand exgtam tﬁe types ofigcu itizatior
Q.3 Answer any two pi’ tﬁe‘fallbwmg L e Y ]
a) Discussthe fegtures of \’*@nty:‘etapnal ﬂngnce 5
b) Bneﬂye’xmém the. Hqt:sing‘ﬁqazice lﬁstitu\tuons ialnd@ §
c) On Apr&\l 2&1%‘3 f«'idmlax) Gomﬁanth% on the hare-purchase system a truck for Rs. 1,50,000 payable
_-R&Sﬁ,ﬁéﬁ cashagra down; pavment«?hbbalaﬂca ‘paytent shall be made in four annual installments
Faf 55'30,006 prlne:paf portion lus interést: at iz% - per annum. The instaliments are payable on 31*
o ,_'.:Dece?[gber‘ e&th'yeat\ Th&f‘rst Lzﬁpallment bemg,payable on 31.12.2016.
N .'Prepare the leﬁge; accgg‘nts af!‘ tﬁe Tpuck -a/¢ and Hire Purchase Vendor a/c in the books of the
- :‘.&.“;Radway.«pompanv fora years qﬁ.ummg that the accounts are closed on 31* December each year.
1
1

% 'Ms Diilpm‘ahusfnessman Heﬂ h s~to travel all over India to meet clients. He incurs various expense related to
:'f','hbtel, t;cltets ihté\r\thmment, etc. Several times he finds it difficult to use his debit card due to shortage of
funds and last mmute trdVeLplans He approaches his banker for a better alternative.
1} Aswmse vaursqlfasa banker and offer him a type of card. Justify your answer.
o j " 2;} List down the merits of the offered card.
RS ~3) Lisuhe p?e,eautlons to be taken for usage of the card.

£F 6529FD8DDC 1 A67TB5ES84151FA3E08B57B
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[Time: 2 % Hours]

S

I Please check whether you have got the right queshgnﬁaﬁef“

' N.B: 1. All questions are compulsory X2
2. Figures to right indicate full marks.

Answer the followmg (any two)

Answer the following (any two) _ Rk
a) Explain the HOFSTEDE’s six dimensuah&of,cuﬁwé \

b) Explain the scope of Research in lqtesnatfﬂﬁgf Ma;ke‘ﬁ‘ng. S
c)
’ 1
‘a
J i) Counter Trade : .,? NS
ii) Skimming Pnemgf\‘ :“;\l
iii) Labelling .- P & : :
| b) Explain the vaﬁ‘ rtyﬁ‘e&qf distrrbu:qén t:ltaena]s.lrt Intematieﬁél Markets.
) What factqrs\ww d‘ypu cws[ﬂerfofpnémg vbm‘ producxsgafore entering International
Market? ey
- AnsWer the;fql{b (A:w .twa}\, 1
3)  What areithe féatures ofjntér m‘at"bnaké
b) .*Exmalmhé need ﬁom‘erﬁhhqh{fStra&g THANN
€ < How to: cqnirown r ‘mn§h4:¢eﬁng apgmmns?
. : g , \L\\\1 \\'\;
B C‘asé Sfudy;‘l SEE S s 1
:-:‘J:"" ;;-- ‘A‘renowned qud chamsan
E _T g
Fs {
F:
X

B we!

]
ol
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Please check whether you have got the right question paper.’ .. :

N.B: 1. All questions are compulsory. PO SRS i

2. Figures to the right indicate full mar,ké.g o o ol
3. Support your answer with suitable examples..” . .« " * S

Answer any 2 questions from the following. PO ) AT ok
Elaborate on the requisites of Indian ethos. . ' 0 0 Cr S 2l

What are the management Lessons Learned fﬁ‘rdms‘t‘heﬂBible? Tk DS P : |
What s the role of Indian Ethos in Managerial Prartices? & o8 O RN

Answer any 2 questions from the fO"dWil‘lEf.':_.jﬂ. Y SR SEp R, .,-",".f‘ ¢ o
Discuss the steps in Work Ethos. .~ catpt S A S R e gt S A
State the values for Indian Managers; B T S B Ko
Explain the importance of Transcultural tuman values in management. - .0
Answer any 2 questions from the following. 5" ;. T
What of Stress? Explain its types. = e St
Explain brainstorming in brief.

Describe the techniguies of motivation. . e STy g A AN

" N Y A s .
3= N 3 3

Answer any 2 questions from the followirg -~ "3 G o
Explain the pros and cons of Gurukul system.~ ' AT o
Discuss the importance of Karma to managers. O
Write a detgiigd_,n,ﬁté"bﬁ selfManagement. e WP N

Read the given Case Study and answer the below questions:

Mr. Prabht Shah owris a small business, employing 30 semi-skilled workers. Most of the workers are

not very. q'u&li‘ﬂeg;-'Sérriérof_t.h‘ém are illiterate. Mr. Prabhu is a task master and very autocratic in his

His son Mr. Sanjay Shah has just graduated from Bajaj Institute of Management Specializing in HR. He
has joined his father's business. His working style is influenced by the principles of Indian Ethos and OB.
He believes in participative- managenient. .

M. Prabhu called his son and said to him “Sanjay, | have been observing your working style for the
past few. days’:i\”pu.are tob the‘tp-péople. I know you are too nice to people. | know you are taught
Human relations i management, but it does not work in real life’.

Commenit 6n-'théile:§dér__s'l'ii‘|d style of Mr. Prabhu and Mr. Sanjay.
Do you agree. with Mr; Prabhu? Give reasons.

DB7CITDA780706E58B3407530CDDCE94
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Q.P. Code :06919
[Time: 2:30 Hours]

Please check whether you have got the right quest|0n paper.

N.B: 1. All questions are compulsory.
2. Figures to the right indicate marks on the question.

a4

Attempt any two. Tra
Al What is BOP? What are its components? ;

B) The following quote is given by a bank in Mumbai: 1 USD = INR 62. 2325 75>
1) Is this quote “Direct” or “Indirect” in Mumbai? ‘
2} Calculate the Mid rate, spread and Spread Percent.
3) Calculate the Inverse Quote.
l
l £} Bank “A” in Zurich quotes: CHF 1.0375-25 per USD
Bank “B” in Frankfurt quotes: CHF 1.3825-75 per EUR
What shall be the derived value of USD per EUR?

assumed capital of 1 million

Attempt any two. - y -
A} What are the reasons for the failure of Bretton Woods system?

B) Give the best option to mvest INR 6 million for a temporary perlod of 6 months.
INR Interest Rate: 4% p.a.

Currency: - | Spot Rate - Interest Rate 7 ‘GIMOnths Fwd rate
usD . |/46.6550-75 | 2.25% p.a. | 46.1500-50
GBP | 78:1250-25. [ 3.50% p.a. | 78.9400-50
EHF - 39.3725-75 - . | 1.50%p.a. . |39.8375-25

€} Spot SGD/SEK 5.1950-00 |
60 Days Forward rates 5.2450-00
SGD interest rates: 4.00%-6.00%
SEK interest rates: 3.40% — 3.60%
Establish covered interest arbitrage if any on one million.

Attempt any two.
A) What are the factors contrlbutlng to the growth of Euro Currency Market?

B) What is ADR? How is it different from GDR? Explain various types of ADRs.

(a] Disc_uss the factors which affeét-floating exchange rates.

DB7C17DA780706E58B3407530CEC3705

[Marks:75]

7.5

7.5

7.5

I Bank “C” in London quotes USD 1.3550-275 per EUR then calculate the: tnangular arbitrage, if any om

15

75

75

75

75

75
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S

A)
B)

€

A)

B)

. Q.P. Code :06919
Attempt any two.
What is FDI? State differences between FDI and FPI. 5
Discuss the origin and growth of Tax Havens. 75
What is BIS? Describe its role. Py 5 : 7.5

&,
Y g

Attempt any two.

Read the following case and answer the questions given below

India’s balance of payments (BoP) turned negative in the second quarter of 2015 after a gap of seven
Quarters. As per Reserve bank of India (RBI) data, the county witnessed $0.86 billion depletion in reserve
assets, the depletion last seen in the September 2013 (quarter) was $10.4 billion, due to flight of foreign
institutional investors (Fll’s) and capital outflows on the loan account,

Flls were solely responsible for the depletion of reserves this quarter. India saw net Fll outflows of $6.5
billion between July and September 2015.Fll inflows had started surging from the beginning of the calendar
year 2014 but turned negative in the June 2015 quarter. Net outflow of portfolio investments intensified to
56.5 billion from $2.6 billion in the June 2015 guarter. Unlike in April-June 2015, the September quarter saw
a bulk of the outflows from equity market.

Net foreign direct investments (FDI) in India during July-September 2015 were at $6.6 billion, the lowest in
the past six quarters. A major chunk of this investment flew in from Singapore and Mauritius and went into
telecom, software, automobile; mining, construction and other services sector.

Other investment in India during the September 2015 quarter amounted to $8.8 billion. Half of it came in
the form of NRI deposits. While the other half was divided b_etwe_en external assistance, ECBs and banking
capital.

Itis worth noting that although net of other investment during July-September showed a big jump over the
investment of mere $1.1 billion in the year-ago quarter, it is substantially lower than the investment seen in
this account in the preceding three quarters.

Overall, the county witnessed net capital inflows (Excluding reserves) of $7.2 billion during July-September
2015, the lowest quarterly inflow in the past two years. These inflows were not sufficient to cover the
country’s current account deficit, Which amounted to $8.2 billion

1) What was the reason behind India’s BOP turning negative in the second quarter of 20157 25
2) In which sectors, July — September 2015 FDI in India went into? 25
3) What were other net investments comprised of during July — September 2015 in India? 25
4) What measures can be adopted by any country to improve their position of BOP? 25
Solve the following 05

Spot EUR / AUD 1.3932
3 Month AFM: Premium 1.75%
Calculate 3 Month Forward EUR / AUD rate.

DB7CITDAT80706E58B3407530CEC3705



All questions are compulsory.
Figures to the right indicate full marks. &
Use of non- programmable calculator is allow&ﬁ‘ahﬂ: mdb e ‘ﬂ

htaily e

=mpt any two from the following :
e by simplex method

xZ=8x, +20x,

to:

2x; + X, < 80... Resource |
3x;+ 4x, < 96... Resource Il _-*; ¥

(X, X2) =20
Find optional profit ( Max 2)

\L l‘ v‘ - ) s ) ‘ . X
Ltd. manufactures two prodm:'(g“Pén@ CI‘ Pi‘qﬂtpe;«uﬂﬁ forP.an d"QQ;J%sﬂQ@nH Rs 80 respectively. 7.5
Ome unit of P requires 2 machinéﬂlqirrs al}d‘oneumt dfgﬁw'féngésg machme.'s hbui:s Availability of
machine hours is 48. 3 A 9,538 DR

) Explain. %@ﬁ@ﬁﬁﬁaﬁ, 3nu aﬁrf‘ cuéTva rfzbjes-ih- simplex method. 2.5
i) Expla@n what is. Pédund‘ént Quns’crhint in graph:cats‘olutmn with the help of a neat sketch. 25

iii) Exp tﬁq:difrerenfqrpes ef sanstraints in LPP: 25
o & o :

: Acullpan? hns»lp&:eed?agtohei f&:ﬁ}'anm? thh s‘hpply Qf&ﬂﬂ .EOO and 1000 units respectively. There are
ﬁﬁrghbqsgs“\& W, W»_:,ah(fW. wltbdan_jand of 4;0(1;«500 700 and 800 units respectively. A feasible
mgwhmsw; {W{th ailécaﬂqns;ﬁrgd umu;msafa ).

;;l.‘- ‘solt : ~GJISIihmhhty_ §mgmﬁatﬂed drstrlbutlon method. 03
£ j.‘: tfhesqiu’éfhfr Jno’f apﬂmai,gind oiatlnial sblutlon by modifying it. 35
- T Fip mlﬁﬁnumtrmsportatto“r@bst SEe o1

Supply
800
600
1000
2400
2400
TURN OVER

F9704E1F65299B9654D904B153BE39E7



b. There are four machines My, M, Msand Ms. There are five jobs P, Q, R, 5 ami T.' S ;
Cost of doing each job on each machine is given below (in Rs. hundreds).-
Machine M; cannot process Job R and Machine Ms cannot process Job o

Jobs P Q
Machines

M, 9 11

M: 12 9

Ms - 11

My 14 8

c. Answer the following:
i) Explain the steps involved in soln‘tﬁmof\an un’balancg maxis
ii) Explain what is meant by degeneragy ansnﬂﬁaﬁehyrobjeinhﬂh"fm it. 2.5
iii) Explain why Vogel's approximatic (%JAM) 1# a bettekmﬂndw West ‘
corner rule (NWCR) to ﬂmf @’e@f : l s ' 2.5

Q.3

i Draw netwofkﬂmgtamqu t'ind thlcal pafh and project completion tine. 35 j
il quea?llesthgd Ja‘tm;ta?tmg; nd ﬂr&’lshlng times of all activities (EST, EF7_ LST, LFT). 04
SR 7o : A S
b Three timé estlmates‘a_te given fq{eqch«agtmty'bf following project.
: Actlwt?' it o “"nglmisﬂt faj Most likely {m) Pesssmstc b)) |
S & g \ 6 24 ;
12 iR
12 30
6 &
3 30 45
S & 30 2
30 54
PG Tahulate éxinqcted time (te) and variance of all activities. 03
g .ii')fj Ijraw netWQrk diagram and find total project completion time (Critical path). 25
?iii)i s m What wm be project completion for 90% confidence of completion? 02
vl 2 TURN OVER

F9704E1F65299B9654D904B153BE39E7



c. Answer the following:

1 i) Explain difference between CPM and PERT.
' ii) Explain what is time cost trade off in project crashing.
i iii) What are the objectives of project crashing?
| ST
J Q4 Attempt any two from the following: A& § i
1 a. Four strategic alternatives Sy, Sy, Ssand Ssare available for coun‘térmg four m‘tes,qf natﬁre Ng, N; Ng and
Ny @5 ”““\"" ! o
States of natu:g\ pols X
N N2 & 5 :
Probability 0. 1,;
Strategy S; '
Strategy S
Strategy S,
Strategy S4
b’ Based on the above information: 0% s
i) Calculate EMV (expected*rﬁg%ﬁm\aiue) fdﬁéat.‘h Jﬁtritegy and ﬂnd bptlmai decusnon 03
ii) Find EPPI (expected p;aydffwghj)‘etfeai mTormﬁuon}\an\d‘EVPI ﬁﬁected value of perfect 02
information). Lo ¥ 3 o g e i :
iii) Construct regret.jhblé and ga‘iﬁl}late EO£ (Expéeted Opquts,mltyioss) 25
b. Following payoff matrix refefs E‘ 3 txﬁdplayefgm plaver Aanﬂ pl’aver B F.’ach player has four
strategic options. 3 R

{Pavaffm Rsr
WA PlayerB .
S OFE S

590 ) 260‘ ‘-‘200-'-?"
50 -100: /40
m zoo 400,160
P N 250\ 300100

\' m\ ok ,»,'"

ii’. Fma the Mamimfi!?tratesv

ii."Find the Minimax Strategy. - S ¥ 2.3
‘ uL What 15 the value oﬁh&‘ Game? : oy 2.5
ok F‘roaess:ng time (minutes)

1 VS Machine A Machine B

“ 90 70

| 40 80

: 3 40 50

*‘, 30 10

e 25 35 |

3 WS Fmd opt!mal seQuence of jobs. 02

| O Fmﬁ total’ rﬁmimum elapsed time. 3.5

¥ O Jth 3¢ \Flnd __;_dl_em,yﬁe for each machine. 02

i : -2 ~: " S .‘5{“"

R -

;\‘- N i o

: 3 TURN OVER

—
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il

P. Cod_ga': 0k

Rs 5

nd 12

)

/6

Rs:

i

1S

Q
t for Aand B

i

ities of M1, Maand

. Profit per un

A company produces two products A and B

Q.5

cteely. 5
pecti

urs res

At

d

vely.

Maare 4,

Following feasible solution has been obtained by simplex metho

Three resources My, Mzand Masare utilized. Capac
Based on the solution answer the following questions.

30
X1

75

Xz

C]—) 3

50

Is this optimal solutions? Justify.
What is optimal product mix and

4

Is it unique solution or are t

iil.

ey
What are the shadow prices-of My,
R
ke a

r
ilizatig

Is there degeneracy in the

Which resources are sca
Find percentage ut

iv.
V.
vi.
v

D

N

(o

TURN OVER

)
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NORMAL DISTRIBUTION TABLE
Area Under Standard Normal Distribution

0.00

0.01

0'02

0.03

0.04

0.05

0.06

0.07

0.08

0.09

0.0

0.0000
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5. . é'l Q.P. Code ;01731 -

[Time: 2% Hours] _ { Marks: 75

please check whether you have got the right question paper.
N.B: 1) All questions are compulsory subject to internal choice.
2) Figures to right indicate full marks. "

-

'
Q.1 Attempt any two questions:- 7 v, , 15
a) Explain main objectives (need) of prq}éct management.. . ¥
b) Define organizational structure and explain types of organizational structure.
c) Eagle Ltd hasan investment opportunity costing ¥ 50,000 with following
expected. Net cash flows. s
[erar ~ | (%) Netcash fldws”'.:j 3
i 8,000-> - o,
2 9,000 °5 2.9«
3 10,000 5 - |
4 23000, 5
5 S 320
6 T 10,0005 S
‘j 7 8,000
8 2,000 ‘
Evaluate the project by._\'Profitabilii‘y index’ method taking 9% discount factor for NPV.
Q.2 Attempt any two questions:- - - 15
a. Explain ‘SWOT’\.anal'ysis with respect to project management.
b. Explain ‘Ecommerce’ in project management.
¢, Explain the meaning of operational management and its importance.
Q.3  Attempt any two questions:- oy 15

a, Explain government assistance towards project management for start ups.
b. Calculate the operating leverage, financial leverage, combined leverage; also
show income statement, -

Particulars & A B

Output in units 75,000 l

"~ Fixed cost (%) 70,000 |

Unit variable cost (%) 7.50 |
Interest Expenses (%) 40,000
Unit selling price (%) 25
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c. Tiger Ltd wishes to takeover leoperd Ltd the financial details of the two-

companies are as under:

Particulars Tiger Ltd Legp‘\’ﬁerd Ltd :
Equity Share Capital (¥10/share) | 1,00,000 350,000 [0 &
Security premium Account - 0 o K000

Profit and loss account 38,000 30 5400050
Preference Share Capital 20,000 p' S & & o DO 4
10% Debentures 15,000 > 5000 5
Total .1,73,000° 61,000

Fixed assets 1 .1,22,000 35,000

Net current assets 1 51,000 26,000 | -
Total < 1,73,000 61,000

Attempt any two questlons

Calculate the Net Asset Value far sharb and find out the exchange ratio.

a. Explain in detail Pfoject Management Maturlty Model (PMMM).
b. Write a short note on p?oject monitoring and controlling.
c. Write down the reasons to terminate the project. -

Solve the following case:-

Falcon Ltd is furmshlng you the following information;- '
Proposed set up at western industrial corridor near Rajasthan

Taxrate s @ 35%

Interest rate @ 15%

Tax holiday for first S years.

P9 5l O UK, B0 U0 N g

“Expected Return on Investment @ 25%
Depreciation per annum ¥ 250 Lakhs.
Term loan Requn‘ed ?‘4000 Lakhs

Tenure of loan = 8 vears repayable with installment at the end of each year

Principle amount i$ payable i in-equal installment of 500 lakhs each year.
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6529FD8DDC1A67B5E84151FA3EFD0964

15

15



Proposed Project
Cost of Project:-
Plant and Machinery
Factory Building
Working capital

Means of Finance &
Additional Equity share capital
Retained Earnings
Term Loan

5 -

Ty AT

Finance manager of the Fnam:iai ?ﬂstftuﬁbn has requestéd you to -
a) Evaluate the pro;ect for p}'oﬂtablhty fqr 3 years SSBR
b) Show Loan Amorﬂhﬁeﬁ $thedule A R A

B

g, YT e agape—

”5,
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Q.P. Code :06919

[Time: 2:30 Hours] P OSSP [Marks:75]

Please check whether you have got the right questIOn paper
N.B: 1. All questions are compulsory. < . ;
2. Figures to the right indicate marks on the quastmn. L A O

Q.1 Attempt any two. : - 3 A8 : sl KSR v oS
A) What is BOP? What are its components? “"‘1’*,__&‘ ~ B P e Xa s B

B) The following quote is given by a bank in Mumbai: 1 USD = INR 62 2325 TEO 7 B9 S vy 75
1) Is this quote “Direct” or “Indirect” in Mumbai? 9 o ) 0
2) Calculate the Mid rate, spread and Spread Percent.
3) Calculate the Inverse Quote.

» C) Bank “A” in Zurich quotes: CHF 1.0375-25 prlISD . <" > & = 5 O D8 807d b 8 75
1 Bank “B” in Frankfurt quotes: CHF 1.3825-75 per EUR ' R Y oV 0

What shall be the derived value of USD per EUR? e Aoy

If Bank “C” in London quotes USD 1 3550—275 per EUR then Cafculate the tnansular arbltrage, if any on

assumed capital of 1 million : ¢

WY
L) h

Q.2 Attempt any two.

A) What are the reasons forthe failure of Bretmn ‘Woods system? o ‘_ 4 ; 7.5
B) Give the best option to: mveat INR 6 milhon fora temporary perlod of 6 months 75
INR Interest Rate: 4% p.a.

Currency: - | SpotRate . - Interest Rate o 6Months Fwd rate

usD o |/46:6550-75 - | 2.25% p.a. |46.1500-50

GBP |.78.1250-25 -~ | 350%p.a. . | 78.9400-50

CHF 0070 (393725475¢ < | 4.50% p.a.~ 5 ([<39,8375-25
C) SPot SGD/SEK5.1950-00.+ o O > 7.8

_P 60 Days Forward rates 5.2450-00 - - : '

SGD interest rates: 4.00%-6. 00%
SEK interest rates: 3.40% —3.60% -
Establish covered mterest arbltrage lf any on one million.

Q.3 Attempt any two

A) What are the factors c‘ontributing to the growth of Euro Currency Market? 75
B) What i is ADR? How.i IS lt different from GDR? Explain various types of ADRs. 7.5
C) DiscuSs the factors whlch affect ﬂoatmg exchange rates. 7.5
P.T.O
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Q.4

Q.5

A)
B)

%)

A)

B)

§N,
-

Q.P. Code :06919 -
Attempt any two.
What is FDI? State differences between FDI and FPI. ;
Discuss the origin and growth of Tax Havens.

What is BIS? Describe its role. : s

S5
e

Attempt any two.

Read the following case and answer the questions given below. )

India’s balance of payments (BoP) turned negative in the second quarter of 2015 aftera gap of seven
quarters. As per Reserve bank of India (RBI) data, the county witnessed $0.86 billion depletion in reserve ‘
assets, the depletion last seen in the September 2013 (quarter) was $10.4 blllwn due to flight of foreign
institutional investors (Fll’s) and capital outﬂows on the-loan account,

Flls were solely responsible for the depletion of reserves this quarter. India saw net Fll-outflows of $6.5
billion between July and September 2015.Fll inflows had started surging from the beginning of the calendar
year 2014 but turned negative in the June 2015 quarter. Net outflow of portfolio investments intensified to
$6.5 billion from $2.6 billion in the June- 2015 quarter, Unlike in-April- June 2015, the September quarter saw
a bulk of the outflows from equity market. '

Net foreign direct investments (FDI) |rj I.r,;,dl,a during July-September 2015 were at $6.6 billion, the lowest in
the past six quarters. A major chunk of this investment flew in from Singapore and Mauritius and went into
telecom, software, automaobile; mining, construction and other services sector.

Other investment in India during the September 2015 quarter amounted to 8.8 billion. Half of it came in
the form of NRI deposits: Whlie the other half was divided between external assistance, ECBs and banking
capital.

It is worth noting that although net of‘other"investment during July;September showed a big jump over the
investment of mere $1.1 billion in the year-ago quarter, it is substantially lower than the investment seen in
this account in the preceding three quarters.

Overall, the counfy withessed net capital inflows (Excluding reserves) of $7.2 billion during July-September
2015, the lowest quar‘terly inflow in the past two years. These inflows were not sufficient to cover the
country's current account deficit, Which.amounted to $8.2 billion

1) What was the reason behindIndia’s BOP turning negative in the second quarter of 2015?
2) In which sectors, July — September 2015 FDI in India went into?

3) What were other net investments comprised of during July — September 2015 in India?
4) What measures can be adopted by any country to improve their position of BOP?

Solve the following - -

Spot EUR/ AUD 1.3932 ;

3 Month AFM: Premium 1.75% -

Calculate 3 Month Forward EUR / AUD rate.

DB7CI7DA780706E58B3407530CEC3705
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Q.P. Code :02170

[Time: 2% Hours]

please check whether you have got the right question paper..
N.B: 1. All questions are compulsory subject to internal choice.
2. Figures to right indicate full marks. sl

Q.1 Answer the following. (any two) o :
Define Risk management. Explain the process of risk management.

a.

b. Explain the different tools used to measure quantitative risk
Calculate expected rate of return & standard deviation o

&

S

f ABC Ltd. For the following information

€.

Situation Probability Stock A (Returh %) Stock B (Return %T1
Normal "~ 04 25% 22%
Recession 0.2 40% - 30%

0.5, -10% 15%

Q.2 Answer the following. (any two)
a. Explain the various structural models of Swap.

b.
¢

Explain the ERM matrix with Diagram.

Define Arbitrage. Explain the types of arbitrage techniqués. .

Q.3 Answer the following. (any fwo)
a. Define corporate governhance. Explain the benefits of corporate governance.

b. Define Risk assurance .Explain the challenges of risk assurance.

C.

Briefly discuss Risk & Stakeholders.

Q.4 Answer the followiﬁg (any two)

a.
b.

Discuss the powers, funictions & duties of IRDA.
What is Reinsurance? What are the different types of reinsurance?
c. Expected losses are givenin the table below.

Find the fair premium if :-

a:

b
t.
d.
e
f

Policy: provide full coverage

Loss value (in Rs.) Probability
2,00,000 0.02
10,000 0.08
0 |09

Under writing costs = 10% of pure Premium

Claims are paid at the end of year
Interest rate = 10%

Expected claim processing costs = Rs 600

Fair profit = 5% of pure premium

BCECF6A83B19137F598FE6TF95745A29
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150 | (1.00)
(1.25) 0.
(0.75) 2.00

3 interest rate of 6% Pa.
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